[FEELLTDOE 7')— 60keik] Bwwhk

1 B oo E O O( RBLRLLZRYVT )
Fall
2p=1:10
2 F K @& % ( RERFA G ) 0.2
3 H o & F ( INTT I ) =
£ = =
4 wm R £ & ( 55777 ) Fal
- - " 3p=1:16_
4 & 3
5 LoF 4 5 ( N =RE ) T
1p=0:43
6 M OB 5 E ( W E K )
Fall
1p=1:54
7 R & B = ( Z=%BHRKZ7—)I ) >0
8 OB R B (RKpLRYVIIIT )
[FEELLTDOE 7')— 66kegik] CTvhk
1 R B E f ( 1w B )
VB
2 N /R & (HeALRVYIBEI 77 ) 2p=0:27
Fall
3 4 H odE B B i E A ) v Fall
1p=1:19
B B
4 == | I/ B N ¢ K AE B E @ ) T
2p=0:38
5 R K H #F®H ( RN ) 2.1
e 8 i =
6 A A W E K ) =
1p=0:58
7 E % % 3 ( kpLRYVITITT )
Fall
2p=0:31
8 W oL B oz ( W E K )
2-0
9 BT OB OE F (74 F2T77x—077)
[MELLTDOE 21)— 84kg#k]
1 o — K ( 56777 )
[MERLL T DER 71)— 84kghl L#R] DTk
1 BRI OB ( £i=1-3 ) 7

2 B Rl e )



[2ERDER 7')— 60kg#k] AT vk

1 T B OE £ ( AHLAVYITITT )
Fall

|
1p=1:24

2 oK B O (#EELZYVIHE )

[2ERDER 7')— 66keg#k]

1 BOH OE # ( BRI T T )

[2ExDER 7')— 84kg#h]

1 % K BAT (tz-v—-r4 FREAHE )



[FEBELITOE FLaa—< 60kgik] ATk

1 wm oK EF B ( BRI 7T )

2-0

2 ¥ oo E O ( RHRLLZRYYT )

[FEBRLITOE F'Laa—<Y 66kgik]

1 N & 3 & (#H2ALZIYIBEI77 )

[FERLLTOE F'Laa—<y 84kegih]

1 oo — B ( Bh7 77 )

[MEBLTOE FLan—< 84kghl E#%]

1 BoAR R ( B8 )




[2ERDER ' Lan—<Y 66kgil])

1 H F E OB (T4 Fa2TTa—T7FT)

[2EBDER 4 Lan—< 84kell k]

1 = B E E (ZRFLRAVYII757)




